%g 576 (4 Nos 2020

_’:lkro WM Hovacnie @&C\& (QJU\’f

T
[a+l@+] =1 .q_/ &a_'_/@'_.\ =0
la_ a’]=1 —

+
N,=a'e, N_=ad’a
W/ 1N N_ =0

Lo N\, 15 = 4, lag 0>
N_ lm(n_» = 0_Ine 0>
B (N, Q. T= ~@ k...
4 0,=0,0.2, ...
=0, 2. .

\0,03 = “Vocoom Wedo, = \o>



Qe Q (e 0.0 = \)“ s (ael W.ﬁ
QF\(“ Wo = dﬂ+ | N—d ,_>

A, 0,05 =0 = a_ 0,07
n -
\”+,V)-7 = @:) @ \o07
Jn) o oy

+

Acsatle  wi /((I/\%UQCA/ \!owaﬂfzg/\

Deia (T, )= L in, -0 =
L0 0y =5 Ca—a) Yoy 0

— (N\Fh \©, V\_‘_"'“., — QM

@MS\@IL)'J{QIQJ’«QO( Ji= Jﬁ@+d_.

J_ ’wa*cu
hﬁUQ] E\T+ J_1= Zjﬁ\\a_ Fuwetauk R
y 13 - _,,.hl- rixs}jﬂ % T



ool f3,0.1=4%" (Ao, a*a.T
=t (aa_a’q, - afa,afa)+
Bur a a*—a+@ =:L=D G- 4’—-1+afa._
& [2& J_1= *r?(@,cu +<14a a _a,”
—ata_ Ot a 1} A
= (®ta,~ata.)
= 2h T, QED

JEEEE— .

D N= 1, +N_
N e 0y = g+ >

LTy T LG +33) + 32

=L¥(qa.ata, +a*a,a’a)
L
+—E‘-:’ﬁ2 ((QA_—M_X

—

—



Gy a.a5a. + a'a,aa
= a0, ~a T,
+ +
+ata_+at*qla.a_
= Ny +NNL
= +N - +0_ Ny =N+'1~M_'§*2k1+\]_

-2

2
J = h_(zm_,_&&:@b{m, N 20,00 —HOEI

—
—

4
2 2
Sl =T () &

—

"Sou Zew Wy @ = O Cfum&u“
—~o

4y T =0

gpm‘(/z Vs 4= j+a- Cj’ugmla“
2
b Fagpube 2= (L)
RN A R

o Faguan ¥ 2on 8

W



@*)“*‘ @
> = <+\m Ji
?M i
(A*W\\‘ CA«—-Mz\Z : ('0
‘ ‘O>

£ \&&> <a+
e 10>

M, 027




Vseu ! @LQQ»&&M%) ‘bwfé: (R)
Kot “D«(ﬁ: (R @
= w | DR \{w

DO =1@) @@ 0y
— [ Gl VG ‘?;

T
ANAAN

A

e A S L N
a, 6,4 a’a-a” =D R)

@ e rea sl

4, D(\z\ W = . —— —
U Qrd ! (e !
. D@ 1o
)(@ A+ D (9—}
S = w
o Do, o) = of/ Ty~ (T-1)



